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2N
X ZH -
L= B

el

AH
MOl HHE TAAL
SENO ALY YREX

= _ — d =
A FB B (B) - HRAY - BES 0l &t o il Bl RE2
C2HEE=(otd) 22 9,625 9,225 400
201 £B-2d| 1,225 9,225 A 8,000
01 At 22l 1,225 9,225 A 8,000
OMN2=g DN =28 EU 175,000 54 875
OANEel=g XA HZ | 50,0003 *3&8r A 150
O1DXMN &858 =& 403 =5,0000H 200
401 Al HIZ 201 Y] 8,400 0 8,400
01 A& HI 8,400 0 8,400
OES2HEG I} HEAA M 140,000& =604 8,400
SAIDIEH AIEE S 6,305,736 7,672,736 A 1,367,000
= 400,000
s 1,035,000
Al 200,000
T 4,670,736
T2 ¥ ot S AIE M 1,005,000 1,004,000 1,000
401 Al HIZ 201 8] 1,005,000 1,004,000 1,000
01 A& HI 1,000,000 1,000,000 0
OZ=2XZE SA(FUHAM A 3H &) 480,000
Odt=AlE 2 ZHISA 250,000
OEEFHISAH(FUHHMA 14 &) 150,000
OEZANEE FHISA 120,000
03 AlE S THHI 5,000 4,000 1,000
OHEASE 2 5,000
2= 450,000 750,000 A300,000
401 AIEHI L 2 CHYI 450,000 750,000 300,000
01 A& HI 400,000 700,000 A300,000
O&EZ2=3 =7l 400,000
02 Zeltl 50,000 50,000 0
OLz=za=E+ Zeltl 50,000
Z2UHLAELSA 100,000 100,000 0
401 Al HIZ 201 8] 100,000 100,000 0
01 A& HI 100,000 100,000 0
OZLHLE ot==AlE ESLIA 100,000
Z2U &2 5 23 AWMES(SHIHA) 500,000 400,000 100,000
401 AIEHI L 2 CHYI 500,000 400,000 100,000
01 A& HI 500,000 400,000 100,000
OZU &2 8 23 2MES(SIHA) 500,000
2 HE X2l (SIHA) 70,000 70,000 0
401 AIEHI L 20HEI 70,000 70,000 0
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X ZH -
L= B
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Fag=n;
H0lssle HEHe TAIHE
SADIBE AMIEES

= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
01 A& HI 70,000 70,000 0
O HE X 2eldl (oA ) 70,000
AEZ HEQLIMZALE KA 12,000 20,000 A 8,000
401 A& HIZ 2018 12,000 20,000 A 8,000
01 A& HI 12,000 20,000 A8,000
O&EZ HIEQLIAMUAE A2 12,000
T2ANEE A2 6,736 6,736 0
201 Let24dy] 6,736 6,736 0
02 2324gHl 6,736 6,736 0
OEZANE=E S =Zxtg2ell 6,736
- XS XM (2 X 68,000 24 136
- xR 2eltl 3,300,000 »2CH 6,600
ALTA dARIRE 2 2,000 2,000 0
201 Let249] 2,000 2,000 0
01 At 22l 2,000 2,000 0
OAESA &3 29 2,000
HeHst e FUXNIAS(ds 4S0S~ 0122 600,000 1,000,000 A 400,000
2t S2I4E)
s 540,000
- 60,000
401 AIEHIZL 20 600,000 1,000,000 A400,000
s 540,000
- 60,000
01 A& Bl 600,000 1,000,000 400,000
Ods &30S~ IIE3AH2Z 24 600,000
s 540,000
T 60,000
HeHst e FUXNZAS (RMASEFHAHIE FH 550,000 50,000 500,000
Feld =HEAY)
s 495,000
- 55,000
401 AIEHI L 201 550,000 50,000 500,000
s 495,000
T 55,000
01 A& HI 550,000 50,000 500,000
ORUSEHAHOE =8 FclZ ZdAY 550,000
s 495,000
T 55,000
EHBHNL Jl=HE =8EH 50,000 0 50,000
401 Al HI R 201 8] 50,000 0 50,000
01 A& HI 50,000 0 50,000
OdeFML J=2Hs =884 50,000




SN HED
A

JM: M0tsHes HES TAHL
SR TADIE AMEES (&)
= _ — d =
SN FE - EA(SA) - MRAY - BES 0l &t o il Bl RE2
S0 BS2 Hel 23 2HEE o 800,000 0 800,000
= 400,000
Al 200,000
- 200,000
401 Al HI R 201 I 800,000 0 800,000
= 400,000
Al 200,000
- 200,000
01 A& 8l 800,000 0 800,000
ORL HS2 el g3 BEdHEA o 800,000
= 400,000
Al 200,000
- 200,000
2 &2 & ot=AlE BREES 50,000 0 50,000
401 Al HIZ 2018 50,000 0 50,000
01 A& HI 50,000 0 50,000
Oz =2 & ot=Ald BAEEH 50,000
SES & MOtE S A 50,000 0 50,000
401 AIEHI L 201 50,000 0 50,000
01 A& HI 50,000 0 50,000
O=4s &8 MILE 3 A 50,000
AetEo e =% o222 FHIAMZ 640,000 0 640,000
401 AIEHI L 2 0] 640,000 0 640,000
01 A& HI 640,000 0 640,000
OXIEtEGH tHE == ot==22 FHIAY 640,000
Sas M86-118 X 23 = EZ2AIE=2 &l 100,000 0 100,000
401 A& HIZ 201 I 100,000 0 100,000
01 A& HI 100,000 0 100,000
O &86-11EX & =5 TZANES8 &
bl (=21 =0 ol &F) 100,000
TAS SHHLD LA BEEHH 30,000 0 30,000
401 Al HI K 201 I 30,000 0 30,000
01 A& HI 30,000 0 30,000
O7ME Scioin L2 BE=HUI (LI F00lla
) 30,000
B 138 &7 2t BEEFHISA 240,000 0 240,000
401 AIEHI L 20 240,000 0 240,000
01 A& Hl 240,000 0 240,000
OFAA 1~38 7 28 ESFHHSA(FUEA
Ol &) 240,000
ZHs sgE 2@ B HHSA 200,000 0 200,000




2N AL
HM: MOls4= HEES TAIAHA
B ST AIDIB AIEES (2 &HH)
- _ _ RE]
SA BB (3H) - NRAY - B Ol At o ﬁ}lgﬁ HRE2
401 AlEHIZL 2 0HY| 200,000 0 200,000
01 Al&H| 200,000 0 200,000
O&NsS so1dd 2 BCHYZ2A(FOEN
0l &) 200,000
MED ~ JMNEDIS B A X SA 30,000 0 30,000
401 Al EHI L 204 HI 30,000 0 30,000
01 Al&H| 30,000 0 30,000
OANHD~AAEDIS BEBESE X ZAH(ZCIEO 0l A 30,000
A2 gelstd or=S)| A Y 300,000 0 300,000
401 AlEHIZL 2 0HY| 300,000 0 300,000
01 Al&H| 300,000 0 300,000
OJtnA2 dgeled ots)| AFY 300,000
SANS EUXNS L T2 IMEZA 400,000 0 400,000
401 A& HIZ 2 0HY| 400,000 0 400,000
01 Al&H| 400,000 0 400,000
O2AsS EUXAd 23 E2Me 400,000
AZ23-185H NEZ2LE X B4 50,000 0 50,000
401 Al HI L 2 0HHI 50,000 0 50,000
01 Al& H| 50,000 0 50,000
OZAHEANE(AR3-185H) NIE 228X
B A 50,000
S HUAE CCELH AtMZ AHY| 70,000 0 70,000
401 Al HI L £ 0HHI 70,000 0 70,000
01 Al& H| 70,000 0 70,000
OSHHIUIAE CCLA AtzHZ HH| 70,000
M2t Xs SAHE =X 19,360 19,360 0
TAHE 29 19,360 19,360 0
201 et 9| 19,360 19,360 0
01 AP 2t 2] H| 19,360 19,360 0
OSAHES 2BD 242
3,000,000 53| 15,000
OEANHERAG EFA=E 70,0003 *15H *33] 3,150
OEANH=EZSAKS EF&ELH
70,000& 13 *x13] 910
Oflgsey ¥ 2227 300
MNHAMEHAO S2= S AIRD] 641,393 584,248 57,145
FHAMERR =4 641,393 584,248 57,145
of& S X &2l dl 91,393 84,248 7,145




A4 0
D ANHMEIRO SE= SAIRD]
NHAMERE £H (e &)
SH-HH . B(SH) - HBAMY - B2 o AF o San HDE2
101 @121l 74,861 69,094 5,767
04 JI2ZtH2Z2XNHEE 74,861 69,094 5,767
Oodtd KX &2 JI2tH 22N 74,861
—QOlAHHI (= ,8X &2 &)
78,0233 x4H %210 65,540
-mdAZEE =S 65,539,320& *4.5% 2,950
-AABE= 65,539,320& *3.23% 2,117
-NE288= 65,539,320 *1.5% 984
- NMEE S 65,539,320& *1.05% 689
—LOoEIRABEZ
65,539,320& *3.23%*8.51% 181
-=SXNEOE 300,000& =44 1,200
—HEAMAHZ 300,000 x4H 1,200
201 Bt A H| 15,032 13,654 1,378
01 AFR2 2t 2l Yl 5,960 4,600 1,360
Ootd(2& A, =92 A6t )X 22l (Ha
2E 5) 5,000,000& x 14 5,000
Oxg92, 23 2A2IARA I Uil
40,000& =128 =2CH 960
02 3524l 9,072 9,054 18
OXNsSIA(FHEX 18) 32,000& =1CH 32
OstFNMEEL2(EEH 1E€)
61,000& *1CH*x23] 122
OXr&F s X &2yl 5,800,000& = 1CH 5,800
@) EPIRTE=N:] 1,475& *1,300¢2! E 1,918
odIle=2 100,000& = 12& 1,200
405 X+H&HF SHI 1,500 1,500 0
01 A&t = S F SHI 1,500 1,500 0
Octda &8s #Hl7Y 1,500
StEAIE =7 A 22l 300,000 300,000 0
401 Al HI YL 2 0HHI 300,000 300,000 0
01 A& HI 300,000 300,000 0
Oodt&E(RHIAIEE &I 300,000
2&8d =2 YHNAHOE &X 50,000 0 50,000
401 Al HI L £ 0HHI 50,000 0 50,000
01 A& HI 50,000 0 50,000
O2&& = HHAHOE &I A 50,000
SEE, +2L 45 N2TZ T 100,000 0 100,000
401 Al HIL 200 100,000 0 100,000
01 Al&HI 100,000 0 100,000
Osd&, =38 A5 HM=72F BUHISA 100,000




CEH B (BH) - NBAY - B2 o AF o San HDE2
=2 S N~AF W2 MAHE MU B A 100,000 0 100,000
401 Al HI L 20 HI 100,000 0 100,000
01 Al&HI 100,000 0 100,000
0422 HSD-MHD 2 M2 SHEE §
Hl S At 100,000
HMSAHAY (AL 319,153 213,133 106,020
ol 2 AY| 164,550 62,483 102,067
ol 2 A Y| 164,550 62,483 102,067
101 @121l 164,550 62,483 102,067
03 RIHLEZZAE 164,550 62,483 102,067
Ootdzel 322(1Y) Jle2
3,946,650 x 1 x12& 47,360
Os=Y 480
— B 2 X+ 40,000& 1 x12& 480
O=cl =4l 4,718
- ZHZAH| 130,000& x1H x12& 1,560
-Y&SOHY| 3,946,650 x80%* 14 3,158
O8an2 3,946,650 *36% 1,421
Ozxh22< 10,101
-542fY 118,356 & *52 6,155
- RIFII0HE 157 ,808& *25 3,946
OIll=sHl s 380
-Z2E=E(s=) 140,000 x1H 140
-Z22=2(st=) 100,000& x1H 100
- gerE Y 20,000& =14 20
- s 20,000& *14 20
-5 20,0003 =14 20
-9 40,000& =14 40
- &35 40,000 =14 40
OLx=EAN=sUI XA 30,000& *13] 30
Ootes XA 30,000& *23] 60
Osta2e 32 g38Z3 100,000
| &2 Z& I 154,603 150,650 3,953
JlE23H| 154,603 150,650 3,953
201 et A | 37,653 37,600 53
01 AFR2 2t 2l dl 37,653 37,600 53
O=AEX 2L (A4) 20,000& x 1502+ A 3,000
O=EAEX 2! (A3) 21,000 102 A 210
OEHTY 13,253
—-dHZelH 617,000& *4JH =3 CH 7,404




EXN: A4
HM: H¥=2HAH (AL W)
¢l =gl el xel)
SA BB (3H) - NRAY - B ﬁlgﬁ HRE2
= 175,000& 574 x5CH 4,375
-EZ2H 147 ,400& =104 1,474
OARE &H =688 X4l 1,000
OFMS8YIIE2+sH| 10,000& *30H ~12& 3,600
OAZ2RAZ 2K SAH|
8,000& x5 .541x30H 128 15,840
OENRUL(HEE=EHL S) 750
202 04| 107,520 107,520 0
01 2Ll 107,520 107,520 0
O2LH o bl 280,000 x32H x12& 107,520
203 €2 F=&d| 4,800 4,800 0
04 EANSIELR2F=XH| 4,800 4,800 0
OBAM2EARF=XH| (3002 0lat)
400,000& x12& 4,800
405 KHoHFE S HI 4,630 730 3,900
01 JHMY 2 E F S H 4,630 730 3,900
oEx=1= el 350,000 = 1CH 350
OZeZeglye ¢ 3,000, 000& «1CH 3,000
OZJ/&88)I ¢ 640,000 =2CH 1,280
HEES (AL 500,000 900,000 A 400,000
WEHN K= 500,000 900,000 A 400,000
D0 EHE A HEANE XS4 500,000 900,000 A 400,000
701 JIEISI HSEE2 500,000 900,000 A 400,000
01 JIEtSI HE &= 500,000 900,000 A 400,000
OFIIOIYEE TAIHEEAIALE X2 AH| 500,000




